Number Bond Sticks

Can you complete these number sentences using number bonds to 20?

The first one has been done for you.

19 1= 20 14 6 | = 20
10 10| = 20 17 3= 20
13 7| = 20 8 12| = 20
4 16| = 20 15 5|= 20
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Number Shape Number Bonds to 20 Missing Numbers

Use the number shapes to work out the missing number in each question.
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Superhero Missing Numbers

Can you find the missing numbers? Q




Number Bonds to 20 Worksheet

Find all the number bonds to 20 that are hidden within the grid. These
are hidden vertically, horizontally and diagonally. There must be an
addition sign between the two numbers for it to count. There are 14
calculations to find.
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Addition and Subtraction to 20
Colour by Number Answers

22

Answer: 16 15 20 12 13

Colour: red yellow green brown blue
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